save:1/14/2016 4:26 PM andrew plot:1/26/2016 11:51 AM jasond file:phawthomime-portlandistructis3.4 structural details.dwg S3.4

4x10 MEMBER
FLOOR SHT'G

\——SIMPSON SDS 1/4 x 3-1/2
SCREWS

1-5/8 UNISTRUT

FRONT VIEW

—. CONNECTION
\ (AT KITCHEN HOOD)

12" ALL THREAD ROD

(TYP 4 CORNERS)

SIDE VIEW

/ SCALE: 1" = 1-0"

18 GA. X 8" LONG FAB.
CONT. € TO ROOF CURB.
(3) REQ. @ EACH SIDE &
(1) REQ. @ EACH END

ROOF SHEATHING]
— DOUBLE TOP PLATE
808 @6 oc. | 2x6 APPLIED TAIL
2x BLOCKING (SEE )
DTL. #19/A7.2 AT EA. <= S
BLOCK FOR — RAFTERS PER PLAN P gl
VENTING) 2 2
SIMPSON CLIP PER TABLE 5 o o (D
BELOW REFER TO TRUSS
SHOP DRAWINGS FOR I
UPLIFT LOADS
N oo @
(2)16d @ ¥
FASCIA TO
ROOF PITCH UPLIFT PER TRUSS SHORSIMPSON TIEDOWN . o o
DRAWINGS (LBS) R
LTP4 PER N
SHEARWALL il /\ v
SCHEDULE 0 - 600 LBS H2.5a - 5x12x1/4 THK. BASE PLATE W/(6)
SHEARWALL 500 - 1200 LBS 1 3/8" DIA. x5" LAG SCREWS
PER PLAN 1200 - 3965 LBS MGT + HDU4 &
EXTERIOR WALL 3965 - 10980 LBS HGT2 + HTT22(2)
WOOD BEAM WHERE REQ'D NOTE: TRUSS SUBMITTALS LOADS
(SHOWN DASériibCKl NG DETAI L SUPERCEDES THIS SCHEDULE RIS AR .
13 (ROOF AT EAVE) FLOOR JOISTS AND 1 . : (2) 2x10
. SUB FLOORING SEE ' B
SCALE: N.T.S. (18) T:/06WD&PLS/M 11RFFRM/06111177 STRUCTURAL PLANS !
8d @ 6"0.c. INTO BLK'G 2x6 BLK'G BETWEEN ¥
TRUSSES & RAFTERS = T.0. BEAM PER $
/>/\ STRUCTURAL
ROOF SHEATHING —— i PLANS
SIMPSON LTP4 @ JOIST HANGER SEE GLU-LAM BEAM PER STRUCT.
2x10 RAFTERS EACH RAFTER STRUCTURAL PLANS B WRAP W/ 5/8" TYPE 'X* GYP. BD.
@ 16%.c. @ EXPOSED SIDES
MANUF. TRUSSES PER 8
PLANS -
2x6 UNDER EACH g
RAFTER. (2)-2x6
. UNDER GLB HIP. -
16d @ 6"0.c. INTO EA. —:
TRUSS == '—£
e
2x8 CEILING JOISTS / %
@ 16%.c. 2x8 BLK'G BETWEEN & 2x FRAIMING @ 16"0c MAX
TRUSSES & RAFTERS
\ fﬁ;
" - ELEV. PER
2x6 @ 16"o.c. ARCH PLANS
0
{/
U
FLOOR / ROOF FRAMING BALCONY
1 1 (RAFTER AND TRUSS CONNECTION) 8
SCALE: 1/2" = 1-0" ’ T:/I08WD&PLS/110FRAMG/08110032 SCALE: 1 1/2" = 1-0" T:/08WD&PLS/126BLCNY/06126027
FRAMING PER PLAN
EXT SHEATHING PER SCHEDULE
DETAILS 10 AND 12 - NOT USED
DRAWINGS
SIMPSON HANGERS AT PTAC
LOCATION
(2) 1-1/8x18 APA RATED RIM
0.112° RED UG @ 24 O.C. cor EOARD LENGTH OF PTAC +12
2x8 WEB BLOCKING TOP OF PLATE
FLOOR SHT'G
e — .
! (4) 3/8" DIA. MACHINE BOLTS AT
[ EACH 2X8 WEB BLOCKING -
5 3 i u 5 CLINCH TIGHT
1 edh ¥
\ \—m 2x8 BLKG. W/ (2) - A34 CLIPS AT
SIMPSON SDS 1/4x3-1/2 EACH END STAGGARD A34'S
SCREWS
< n Y
1-5/8 UNISTRUT ggR?qLégsk;READ ROD(TYP 4
+ 6l’8ll
BT. OF DOOR FRAME
FRONT VIEW SIDE VIEW , ﬂ
i
CONNECTION / BLOCKING SECTION A!THPTAC / DO
9 (AT KITCHEN HOOD) 7 (AT ELECTRICAL ROOM)
SCALE: 1"= 1-0" T/0B8WD&PLS/110FRAMG/06110627 SCALE: 1'=1-0" TJ06WDSPLS/ 10FRAMG/06110620
9 5\ @axto
4x10 MEMBER, LOCATE PER HOOD §3.4/\83.4/ MEMBER
CONNECTION @ JOIST
1/4" x 4" LAG BOLT AT UNISTRUT "o gn
LOCATIONS ONLY 1’0 c);\% éﬁg gﬁg AT UNISTRUT
y% % ”{E i ! : . | ) i)
1-5/8" P1000 UNISTRUT-
1/2" ALL THREAD ROD
(TYP 4 CORNERS)
4 @P‘ qﬁ\l =2 =)
5 — N /
A75 —
HOOD HANGING ANGLE BY U S 1-5/8" P1000 UNISTRUT
HOOD MANUFACTURER. :
(TYP @ 4 CORNERS) \—
SUSPENDED CEILING
WASHER AND DBL NUT PERPLAN
(TYP @ 4 CORNERS)
NOTE:
ALTERNATE BRACING MAY BE
USED, SUBMIT TO ENGINEER OF
RECORD FOR APPROVAL

GREASE HOOD

6 STRUCTURAL SUPPORT

SCALE: 1/2"=1-0"

T:/06WD&PLS/110FRAMG/06110628

(8) #10 SCREWS

14 GA. METAL CURB

1/4" PLATE X 3" LAG

SCREWS @ 8" O.C.

4x10 WOOD CURB

T:/06WD&PL.S/110FRAMG/06110633

(8) #10 SCREWS

AC AND METAL CURB CONNECTION

\ (BASE CONNECTION)

/ SCALE: 11/2"=1'-0"

(4
\834/

T:/06WD&FLS/111RFFRM/06111158

18 GA. MIN. X 8" FAB. CONN. ¢ TO

J'T%F—b—z‘j a=l B

1!
)
4/
1/

METEL ROOF CURB. (2) @ EACH
SIDE

(3) SIMPSON LTP50G (MAX) PER
SIDE w/ (14) 8d NAILS

CS16X36 w/ (10)-10d NAILS @
ROOF & w/ (10)-10d NAILS @
WOOD CURB & w/ (7) #10 SCREWS
@ METEL CURB. (2) PER SIDE
LOCATE NEAR CORNERS.

14 GA. STEEL METEL CURB

el
\

; T sovecoos
£ SR

BEAMS PER PLAN
GLT5 HANGER

ROOF UNIT BASE CONNECTION

\ (SECTION THROUGH CURB CONNECTION)

/ SCALE: 1/2" = 1'-0"

CS816X36 w/ (10)-10d NAILS @ ROOF & w/ (10)-10d NAILS
@ WOOD CURB & w/ (7) #10 SCREWS @ METEL CURB.

(2) PER SIDE LOCATE NEAR CORNERS.

7 /, :

T:/08WD&PLS/111RFFRM/06111157

@) 2x BLKG

GLT5
HANGER

Sy

S
,// /// Z /
PPE.S ‘

5-1/8X10-1/2 G.L.B.

2

NOTE:

BEAM ARE TO ALIGN WITH THE INSIDE EDGE
OF THE WOOD CURB & MECH. CURB

(2)2xBLKG | ¥

FRAMING FOR AC-1 CONNECTION

\ (ROOF FRAMING)

/ SCALE: 1/4" = 10"

T:/OBWDEPLS/111RFFRM/06111159

FROM CORRIDOR WALL TO ¢ OF 4x10

4x10 BEAM ABV. LOCATE

CORRIDOR WALL

GLB ABV. PER

=
STRUCTURAL PLAN\S1.4/

UNISTRUT ABV

UTILITY DISTRIBUTION
RISER BY KITCHEN
SUPPLIER

|
PARTIAL PLAN

\ (KITCHEN HOOD)

!‘:
e |
PER HOOD CONNECTION ; . g///%/A /// ;{ ( : y |
. NN I AN (6 )
(//{g 4 || g:/ \
L AN I S -
| V7 W | !__3-1/8x18 GLB b —— 3]
I | : |
a - E | .
& ( i
6 | T ' f
&S  MUADUCT ABV. PER | E 5T ) ‘ || | I
© |5 MECH. ' e H |
% SN 1 g |
/ /
& m, S m |l | m
"' = s ' = | g L@
(ORI / y SN o | g o
-~ ; Q _______ _ Y -~ ( | -~
Y, X 7] X
) | %+ | | %
- ! D | g P
0| 10 HANGER— © @
! I N ! 1-5/8" P1000
| 3 : i UNISTRUT ABV
| // i
B 47/ |
> y ~ - R ]
S 4x10 BEAM ABV. LOCATE .
f PER HOOD CONNECTION '
g 1/2" ALL THREAD ROD
% o (TYP 4 CORNERS) —————_|
o~
€ WASHER AND DBL NUT
% HOOD COLLAR/
TY N
g (TYP @ 4 CORNERS) — DUCT JOINT
w
1-5/8" P1000
UNISTRUT ABV
TYPE 1 EXHAUST
HOOD (1014 LBS.)
e
% MTL. DUCT ABV. PER
s MECH
%o
4
%
L
©  MAKE-UP AIR SUPPLY /, HOOD COLLAR/
PLENUM (111 LBS.) DUCT JOINT
1-5/8" P1000 UNISTRUT
ANGLED TO CEILING.
SHOWN POCHE
4x10 BEAM ABV. LOCATE
PER HOOD CONNECTION
N U410 HANGER—————"
EMS UTILITY CABINET BY
HOOD SUPPLIER S UTILITY DISTRIBUTION
RISER BY KITCHEN
—— SUPPLIER

/ SCALE: 3/4"=1-0"

T:/06WD&PLS/110FRAMG/06110625

©2015 Lenity Architecture

\\\\\3\\\\\\\&iis: W/////,,///

.\&_\s‘\\\\ £@80000, A
e
Ee G :
& k@ =
“‘5%0 g
o
X " e
e /’”f'wmgm;uaxu\a\\f% a
8
g
3
5%
RE
\ 2%
A o2
#&53
m— D £
=L
A5
o Y
s (O o9
4=
&
MY
2
N L,
- N
5
-
T
e Eo N
1 538 A
OO .(,b;oaw
roz?
Qo wo
ZzE WUp®
<(Z ~w O
O vx
ZO I—OV
O~ Fol
hES
1% gue
Ju 857
=
5 2 M
M
N Y,
s ™~
LLl
™
O 3
Z 3
I Y
0 =
——— <
Qwn =
Z W 2
L Yy <
]
el =
E bk &
O
oy Z
oy
o = <
Ll £
Yy «
——— 8
— o
1
N J
s a

STRUCTURAL
DETAILS

- J/

(DATE )
8/28/2015

s 3\
REVISED DATE

/N 912212015

(SHEET
s34

AN

J




